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QUESTION 1

Your existing tape infrastructure uses block level technology. You need to restore a set of files but not the entire volume.
How ca this accomplished without compromising the existing data on the server?

A. Backup the server, restore the original volume, then restore the recent backup

B. Restore the tape over the existing volume. Only extra files that do not exist will be added

C. Build out a new server that mimics the existing server and restore the file to that newly created server

D. Restore to an alternate location such as a newly allocated drive. Copy the files you need on to the volume.

Correct Answer: D

QUESTION 2

Which protocol can be used for backups on as IP based network?
A. FCIP

B. NDMP

C.iFCP

D. SES

Correct Answer: B

QUESTION 3

What are two advantages of IP storage networking? (choose two)
A. Uses existing Ethernet technologies

B. Supports up to 126 devices.

C. Lowers propagation delay.

D. Leverages system administrator knowledge

Correct Answer: AD

QUESTION 4
What is the maximum distance of a 9-micrometer singlemode fiber with a 1300nm longwave laser at 2 Gbps?

A. >50k meters
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B. 10k meters

C. 5k meters

D. 2k meters

Correct Answer: D

QUESTION 5

https://lwww.pass4itsure.com/s10-101.html
2024 Latest passditsure S10-101 PDF and VCE dumps Download

Which two disk interfaces have high-availability connections (dual-ports) on the disk? (Choose two)

A. SATA

B. SAS

C. scsl

D. ATA

E. Fibre Channel

Correct Answer: BE
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